KIS

Ay b7 .\ =
PARTS LIST

(S & W B (R






B X

AN—3O00K--300KF-301K*301KF (IES__?;_J) ................................. 1
AN_ZOO.ZOOF.ZO‘].ZO‘]F(IE@) ............................................. 5
AN—6OOK 601K ;’Eﬂ(%ﬁA (IES__?;_J) ..................................................... 9
AN—6OOK"-601K ;’Eﬂ(%ﬁB (IES__?;_J) .................................................... 13

AN—301K-301KF+-300TK

AN—302K:-302KF:-302TC-402TK (20168 ~) - -cveeen- 17

AN—201+-201F-200TC

AN—202 - -202F-202TC (2016£E~) .............................. 21

AN_601K'AN_602K(5E7K§EA 20‘]6£E~) ........................ 25

AN_601K'AN_602K(5E7K§EB 20‘]6£E~) ........................ 29



1.AN—300K+-300KF-+-301K+-301KF EKEE (182D

25

6-6a




by

1. AN—300K-+*300KF+*301K+*301KF &
SHES B 5 E S BRB BB o e w3000 B B =
1 -1 1192-3611-000 JU—L4LL 1 1 1 2010FE£T
1 -1a |1193-3611-001-01 JU—L4LL 1 1 1 2011~
1 -2 1192-3612-000 JU—LAR 1 1 1 2010FE£T
1 -2a |1192-3612-001-01 JUL—LAR 1 1 1 2011~
1 -3 [1101-3022-000 SOESIAN 4 4 4 2010FE£T
1 -4 11192-3613-000 JU—LALT 1 1 1 1 1 2010FET
1 -4a |1192-3613-000-01 JU—LALT 1 1 1 1 1 2011~
1 -6 |A252-0706-012 F>23OxY 6 6 6 6 6 M6X12
1-6  1192-3614-000 FIUINRYHIN— 1 1 1 1 1 2013FET
1-6a |[1192-3614-000-01 | INRJAH/\— 1 1 1 1 1 20145~
1 -7 |A252-0706-012 F>23Ox%Y 4 4 4 4 4 M6X12
1 -8 [1192-3515-000 DI A7 2 1 1 1 1 1
1-9 |A252-0705-012 b 23Ox%Y 2 2 2 2 2 M5X12
1 -10 |1192-3518-000-01 A1 I 1 1 1 1 1 1
1 -11 |A252-0706-012 F>23Ox%Y 2 2 2 2 2 MeX12
1 -12 11192-3519-000 Jw7B 1 1 1 1 1
1 -13 |A252-0706-012 F>23Ox%Y 2 2 2 2 2 MeX12
1192-3550-000 FTIINIJASY 1 1 1 114,717,118, 19 2010FET
1192-3550-001-1 FIINIJASY 1 1 1 |14a, 15~17, 18, 19 2011 EFE~20126F
1192-3650-000 FTIINIJASY 1 1 1 |[14b~16, 1Ta~19 2013F~

1 -14 [1192-3651-000 FIUINRY 1 1 1 2010FE£T

1 -14a 1192-3651-001-1 FIUINRY 1 1 1 2011 EFE~20126F

1 =14b | 1192-3660-000 FIUINRY 1 1 1 2013F~

1 =15 0830-0200-400 oo 1 1 1 1 1 2011~

1 -16 |A140-0500-408 F3IMRIL 1 1 1 1 1 |[M4X8 20118~

1 -17 11192-35621-000 JxI)LY 1 1 1 1 1 20NEEXT

1 -17a|1192-3521-000-01 JxI)LY 1 1 1 1 1 2012~

1 -18 [1192-35628-000 o7 1 1 1 1 1

1 -19 [1192-35622-000 o 1 1 1 1 1
1192-3560-000 NZR=ILRASY 1 1 1 120, 22,24 2010FET
1192-3560-000 NZhR=ILRASY 1 1 1 |20a~24 2011~

1 -20 [1192-35661-000 NZHR=ILR30O 1 1 1 2010F £ T

1 -20a | 1192-3661-000 NZHR=ILR30O 1 1 1 2011~

1 -21 [1192-3621-000 VT w 1 1 1 2011~

1 -22 11192-3624-000 PYl)aog—a 1 1 1 1 1

1 -23 [1192-3625-000 R—=2 I 1 1 1 1 1 2011~




1.AN—300K+-300KF-+-301K+-301KF EKEE (182D

25

6-6a




by

1. AN—300K-300KF-+-301K-301KF &7
REUBS & 8 & S # & B A 300K 3OOK?§)1E§Q301KF 300T R 8 "

1-24 1192-3536-000 FIAZT-)tzy 1 1 1 1 1

1-26 1192-3626-000 INTTA 1 1 1 20105&E T

1 -2ba 1192-3626-001-1 INTT A 1 1 1 20115~

1-26 1192-3627-000 TUxhHY 1 1 1 20115~

1-27 1199-0021-000 TILRA 1 1 1 20115~

1-28 1192-3528-000 ouyzor 1 1 1 1 1

1-29 1192-3522-000 FruT 1 1 1 1 1

1-30 1192-3525-000 DIRANTT 2 2 2 2 2

1-31 1192-35632-000-1 Jntzy 2 2 2 2 2

1-32 1192-3523-000 AV 1 1 1 20105 &E T
1192-3620-000 NILTASY 1 1 1 1 1 |32a~34 20115~

1 -32a 1192-3523-000 AV 1 1 1 1 1 20115~

1-33 1192-3621-000 VT w b 1 1 1 1 1 20115~

1-34 1192-3523-200 R—RI31Uk 1 1 1 1 1 20115~

1-36 1192-3633-000 NTRANNT1TB 1 1 1 201MEET

1 -35a |1192-3633-001-01 |/\T2X7/X7_B 1 1 1 20125~

1-36 1192-3615-000 w7 1 1 1 1 1 20115~

1 -37 N300-0106-E01 ENFwh 1 1 1 1 1 M6 930 T2 20115~




2.AN—200-200F-201-201F-200TC BEKEE (18R

6-6a




2. AN—200+<200F+*201+<201F-<200TC FEIK S J
SEES X 8 E = BB BB s e o oste B B & =
2 -1 1192-3611-000 JU—L4LL 1 1 1 2010 £ T
2 -1a |1193-3611-001-01 | JL —AL 1 1 1 2011~
2 -2 11192-3612-000 JU—LAR 1 1 1 2010 £ T
2 -2a |1192-3612-001-01 L —AR 1 1 1 2011~
2 -3 11101-3022-000 N Fw b 4 4 4 2010 £ T
2 -4 11192-3613-000 JU—LALT 1 1 1 1 1 2010 £ T
2 -4a |1192-3613-000-01 L —AT 1 1 1 1 1 2011~
2 -5 |A252-0706-012 > 23xY 6 6 6 6 6 M6X12
2 -6 |1192-3614-000 FIINIH/IN— 1 1 1 1 1 2013FET
2 -6a 1192-3614-000-01 | /IR H/\— 1 1 1 1 1 2014~
2 -7 |A252-0706-012 S22 3xY 4 4 4 4 4 M6X12
2 -8 11192-3515-000 DI IF712 1 1 1 1 1
2 -9 |A252-0705-012 S22 3xY 2 2 2 2 2 McX12
2 -10 [1192-3618-000-01 AV X1 3571 1 1 1 1 1
2 =11 |A252-0706-012 S22 3xY 2 2 2 2 2 MBX12
2 =12 11192-3519-000 Jw7B 1 1 1 1 1
2 -13 |A252-0706-012 S22 3xY 2 2 2 2 2 MBX12
1192-3650-000 FIINJASY 1 1 1 114,17, 18,19 2010 £ T
1192-3650-001-1 FIINIJASY 1 1 1 [14a, 15~17, 18, 19 2011E~20126F
1192-3650-000 FIINIJASY 1 1 1 |[14b~16, 1Ta~19 2013F~
2 =14 11192-35561-000 FIINY 1 1 1 2010 £ T
2 -14a 1192-35561-001-1 FIINRY 1 1 1 2011E~20126F
2 -14b |1192-3660-000 FIINY 1 1 1 2013F~
2 =15 10830-0200-400 o7 1 1 1 1 1 |@40 ®FR GhH 2011~
2 -16 |A140-0500-408 = 1 1 1 1 1 [M4AX8 20118~
2 =17 11192-3521-000 JxILY 1 1 1 1 1 20NMEZLT
2 -17a1192-3621-000-01 | J /L& 1 1 1 1 1 2012~
2 -18 11192-3528-000 o7 1 1 1 1 1
2 -19 11192-3522-000 Frvr 1 1 1 1 1
1192-3660-001 NZR=ILR20OOASY 1 1 1 1 1 20~24
1194-3661-100 NR=ILR20O 1 1 1 1 1 120-23-24
2 =20 |1194-3561-001-1 NR=ILR20O 1 1 1 1 1
2 =21 11192-3621-000 T w 1 1 1 2011~
2 =22 11192-3624-000 PYl)aog—o 1 1 1 1 1
2 =23 |1192-3625-000 K= I 1 1 1 1 1 2011~




2.AN—200-200F-201-201F-200TC BEKEE (18R

6-6a




by

2. AN—200-200F-201-201F-200TC &7 4
BHES B B E S B R BB o e wore | B B e

2 -24 1192-35636-000 FIAZT-)tzy 1 1 1 1 1

2 =26 1 1192-3626-000 INTTA 1 1 1 2010FFET

2 -26a |1192-3626-001-1 INTT A 1 1 1 20115~

2 -26 | 1192-3627-000 JVEDY 1 1 1 20115~

2 =27 1199-0021-000 TILRA 1 1 1 20115~

2 -28 1192-3528-000 ouyzor 1 1 1 1 1

2 =29 1192-35622-000 Fruwrd 1 1 1 1 1

2 =30 1192-35625-000 DIRANTT 2 2 2 2 2

2 =31 1192-3632-000-1 Jntzy 2 2 2 2 2

2 =32 1192-35623-000 NILT 1 1 1 2010FFET
1192-3620-000 NILTASY 1 1 1 1 1 |32a~34 20115~

2 -32a 1192-35623-000 NILT 1 1 1 1 1 20115~

2 -33 1 1192-3621-000 VT k 1 1 1 1 1 20115~

2 =34 1192-35623-200 R—=RI31Y b 1 1 1 1 1 20115~

2 -36 1192-35633-000 NTRANNT1TB 1 1 1 2011FEFET

2 -35a |1192-3533-001-01 |/\1 2-1/N1B 1 1 1 20125~

2 -36 1192-3615-000 A 1 1 1 1 1 20115~

2 =37 N300-0106-E01 ENTFwY B 1 1 1 1 1 M6 @30 E& 20115~

2 -38 | 1194-3641-000 JIRANAT 1 1 1 1 1




3. AN—600K-601K BKEEA (IBEY)

6-6a




3. BEKEBABFR

(AN—600K-+601K)

SHES B 8 E S BB LW S3E B B =
600K | 601K
3 -1 1192-3611-000 JUL—LAL 1 2010 £ T
3 -1a |1193-3611-001-01 JUL—LAL 1 2011~
3 -2 11192-3612-000 JUL—LAR 1 2010 £ T
3 -2a |1192-3612-001-01 JUL—LAR 1 2011~
3 -3 11101-3022-000 SESAN 4 2010 £ T
3 -4 11192-3613-000 JU—ALT 1 1 2010 &£ T
3 -4a |1192-3613-000-01 JU—ALT 1 2011~
3 -5 |A252-0706-012 o3RI 6 6 M6X12
3 -6 1192-3614-000 FIINH/IN— 1 1 2013FET
3 -6a |1192-3614-000-01 FIINRIH/IN— 1 20145~
3 -7 |A252-0706-012 Fo23axY 4 4 M6X12
3-8 11192-3515-000 DI IT7T12 1 1
3 -9 |A252-0705-012 Fo223xY 2 2 Mo6X12
3 -10 |1192-3518-000-01 DI 1 1 1
3 -11 |A252-0706-012 Fo23axY 2 2 MeX12
3 -12 11192-3519-000 Jwvw7B 1 1
3 -13 A252-0706-012 Fo23xY 2 2 MeX12
1192-3550-000 FIINRIJASY 1 14,17, 18, 19 2010FXET

1192-3650-001-1

FTUINJASY

14a, 15~17, 18, 19

20115 ~20126F

1192-3650-000 FUINRIASY 1 |14b~16, 1Ta~19 20135~
3 -14 11192-3551-000 FIINY 1 2010 &E T
3 -14a 1192-3551-001-1 FIINY 1 20115 ~20125F
3 -14b 11192-3660-000 FIINY 1 20135~
3 -15 1 0830-0200-400 oy 1 @40 @A GhH) 20115~
3 -16 | A140-0500-408 FaoMmIL b 1 [M4X8 2011~
3 -17 11192-3521-000 J1LB 1 1 201MEFET
3 -17a 1192-35621-000-01 |\ D« /LY 1 20125~
3 -18 1192-3528-000 oy 1 1
3 -19 1192-3522-000 TruT 1 1
1189-3660-000 NIHKR—ILRB6OOASY 1 20, 22,24
1189-3660-000 NIHKR—ILRB6OOASY 1 |20a~24 20115~
3 -20 1189-3561-000 NIR=ILREB0O 1 2010 &ET
3 -20a 1189-3561-000 NIR=ILREB0O 1 20115~
3 -21 1192-3621-000 VT w b 1 20115~
3 -22 1192-3624-000 ol)soga 1 1
3 -23 1192-3625-000 R—2J ) 1 20115~




3. AN—600K-601K BKEEA (IBEY)

6-6a




3. BEKEBABFR

(AN—600K-+601K)

[SE1EES

BEES 8 @ & S & & B W 500K | 601K g 18 f@
3 -24 1192-3536-000 FOAZT-)LizY 1 1
3 -25 1192-3626-000 INTTA 1 1 20105 &ET
3 -25a | 1192-3626-001-1 INTTA 1 20115~
3 -26 1192-3627-000 TVxHY 1 20115~
3 -27 1199-0021-000 TILRA 1 20115~
3 -28 1192-3528-000 oy 1 1
3 -29 1192-3522-000 Trur 1 1
3 -30 1192-3525-000 HIRAINTT 2 2
3 -31 1192-3532-000-1 YNy 2 2
3 -32 1192-3523-000 AVIVw) 1 20105 &E T
1192-3620-000 NILTASY 1 |32a~34 20115~
3 -32a 1192-3523-000 AVIVw) 1 20115~
3 -33 1192-3621-000 VT 1 20115~
3 -34 1192-3523-200 IN—RI3r1Uk 1 20115~
3 -35 1192-3633-000 NTRANT1TB 1 1 201MEFET
3 -36a | 1192-3633-001-01 /N7 R /N17B 1 20125~
3 -36 1192-3615-000 AN 1 20115~
3 -37 |N300-0106-EO01 ENFw b 1 M6 @30 FE& 20115~




4. AN—600K-601K EKFEEB (B

6-6a




4. EKEBBEIR

(AN—600K-+601K)

SHES B 8 E S BB LW S3E B B =
600K | 601K
4 -1 1192-3611-000 JUL—LAL 1 2010 £ T
4 -1a 1193-3611-001-01 JUL—LAL 1 2011~
4 -2 11192-3612-000 JUL—LAR 1 2010 £ T
4 -2a 1192-3612-001-01 JUL—LAR 1 2011~
4 -3 11101-3022-000 SESAN 4 2010 £ T
4 -4 11192-3613-000 JU—ALT 1 1 2010 &£ T
4 -4a 11192-3613-000-01 JU—ALT 1 2011~
4 -5 |A262-0706-012 o3RI 6 6 M6X12
4 -6 1192-3614-000 FIINH/IN— 1 1 2013FET
4 -6a |1192-3614-000-01 FIINRIH/IN— 1 20145~
4 -7 |A262-0706-012 Fo23axY 4 4 M6X12
4 -8 1192-3515-000 DI IT7T12 1 1
4 -9 |A262-0705-012 Fo223xY 2 2 Mo6X12
4 -10 1192-3518-000-01 DI 1 1 1
4 -11 |A262-0706-012 Fo23axY 2 2 MeX12
4 -12 11192-3519-000 Jwvw7B 1 1
4 -13 |A262-0706-012 Fo23xY 2 2 MeX12
1192-3550-000 FIINRIJASY 1 14,17, 18, 19 2010FXET

1192-3650-001-1

FTUINJASY

14a, 15~17, 18, 19

20115 ~20126F

1192-3650-000 FUINRIASY 1 |14b~16, 1Ta~19 20135~
4 -14 11192-3551-000 FIINY 1 2010 &E T
4 -14a 1192-3651-001-1 FIINY 1 20115 ~20125F
4 -14b |1192-3660-000 FIINY 1 20135~
4 -15 |0830-0200-400 oy 1 20115~
4 -16 |A140-0500-408 F 3Rk 1 [M4X8 2011~
4 =17 11192-3521-000 J1LB 1 1 201MEFET
4 -17a1192-3521-000-01 | D« /L& 1 20125~
4 -18 |1192-3528-000 oy 1 1
4 -19 1192-3522-000 TruT 1 1
1189-3670-000 NIR—JLRE6ON ASY | 1 20, 22 20105 T
1189-3670-000 NIR—ILE6ON ASY 1 |20a~22 20115~
4 -20 |1189-3571-000 NIZR=JLRE6ON 1 2010 &ET
4 -20a |1189-3571-000 NIZHR=JLRE6ON 1 20115~
4 -21 11192-3621-000 VT w b 1 20115~
4 =22 11192-3624-000 ol)soga 1 1
4 -23 |1192-3626-000 INTTA 1 1 2010 &ET




4. AN—600K-601K EKFEEB (B

6-6a




4. EKEBBEIR

(AN—600K-+601K)

[SE1EES

BEES 8 @ & S & & B W 500K | 601K g 18 f@
4 -23a | 1192-3626-001-1 INTTA 1 20115~
4 -24 11192-3627-000 TVxHY 1 20115~
4 -25 11199-0021-000 TILRA 1 20115~
4 -26 |1192-3528-000 oy 1 1
4 =27 11192-3522-000 TruT 1 1
4 -28 1192-3525-000 HIRAINTT 2 2
4 -29 1192-3632-000-1 YNy 2 2
4 -30 |1192-3523-000 AVIVw) 1 2010 &ET
1192-3620-000 NILTASY 1 |30a~32 20115~
4 -30a |1192-3523-000 AV 1 20115~
4 -31 |1192-3621-000 VT w b 1 20115~
4 -32 |1192-3523-200 IN—RI3r1Uk 1 20115~
4 -33 |1192-3633-000 NTRANTTB 1 1 201MFET
4 -33a1192-3633-001-01 |/\7T X1 /N1 B 1 20125~
4 -34 11192-3615-000 AN 1 20115~
4 -35 |N300-0106-EO1 ENFwb 1 M6 @30 E& 20115~




5.AN—301K-+-301KF+300TK

AN—302K+*302KF+-302TC-+-402TK (&KixE 2016LF~)




5. AN—301K-+*301KF-+<300TK
AN—302K+<302KF-+-302TC-<402TK (EXKEB 20165F~)
=0
RESS # B & S 8 & & 307K | 301KF 300T|<D iﬁégom soatcaceTc P B "

5-1 1192-3611-001-02 7L —LL 1 1 1 1 1 1 1

5-2  1192-3612-001-01 | JL —LR 1 1 1 1 1 1 1

5-3 1192-3613-000-02 | L —AT 1 1 1 1 1 1 1

5-4  A252-0706-012 FSRORY 6 6 6 6 6 6 | 6 |MBX12
5-56 1192-3614-000-01 |/ INRIH/N\— 1 1 1 1 1 1 1

5-6 A252-0706-012 FSRORY 4 4 4 4 4 4 | 4 |MBX12
5-T 1192-35156-000 HYRA T2 1 1 1 1 1 1 1

5-8 A252-0705-012 FSRORY 2 2 2 2 2 2 | 2 MBXT
5-9  1192-3918-000 HY 21T 1 1 1 1 1 1 1

5-10 A252-0706-012 FSRORY 2 2 2 2 2 2 | 2 [MBXT
5-11 1192-3519-000 JwIB 1 1 1 1 1 1 1

5-12  A252-0706-012 FSRORY 2 0 2 2 2 2 2 2 [MBXT
5 -13  1192-3950-000 FUIRY 1 1 1 1 1 1 1 MBX12
5 -14 1192-3960-000 A TILAR 1 1 1 1 1 1 1

5-156  1192-35661-000 NZ—/R=JLR30O 1 1 1 1 1 1 120« 21y
5-16 1192-3942-110 RL 1 1 1 1 1 1 122230y
5-17 |1192-3942-120 NILTVT v b 1 1 1 1 1 1 1

5-18 1192-3621-110 NILTITUTw k 1 1 1 1 1 1 1

5-19 1192-3624-000 AEREt 1 1 1 1 1 1 1

5-20 1192-3625-000 M= I 1 1 1 1 1 1 1

5 -21 1192-3536-000 HFa=—)Lltey 1 1 1 1 1 1 1

5 -22  0830-0200-400 oz 1 1 1 1 1 1 1

5 -23  A140-0600-408 F3IRIL 1 1 1 1 1 1 1 MAX8

5 -24 |1192-3621-000-01 |7+ /L% 1 1 1 1 1 1 1

5 -25 1192-3528-000 oy 1 1 1 1 1 1 1

5-26 1192-35622-000 FrvS 1 1 1 1 1 1 1

5 -27 |1192-3943-000 T+ 1 1 1 1 1 1 1

5-28 1192-3626-001-1 /N1 TA 1 1 1 1 1 1 1

5-29 1192-3627-000 LM 1 1 1 1 1 1 1

5-30 1199-0021-000 TILRA 1 1 1 1 1 1 1

5 -31 1192-3528-000 oy 1 1 1 1 1 1 1

5-32 1192-35622-000 FrvS 1 1 1 1 1 1 1

5 -33 1192-3526-000 HIZAANAT 2 22 2 2 2 2

5-34 1192-3632-000-1 \JLtzY 2 202 2 2 2 2

5-35 |1192-3523-000 NIV 1 1 1 1 1 1 1




5.AN—301K-+-301KF+300TK

AN—302K+*302KF+-302TC-+-402TK (&KixE 2016LF~)




5. AN—301K-+-301KF-+-300TK
AN—8302K-302KF-+-302TC-402TK (EXKEE 20165F~)
pryim
RUBS F % & S ® % B 301K | 301KF 8OOTKD§(')1E%;OZKF 302TC/402TK = B "
5-36 1192-3621-000 VT w bk A A T A A A IO A R
5 -37 1192-3523-200 R=2I37 b LA A O T A A B B R
5-38 1192-3933-000 NT2TNT1TB A A O A A IR A R
5 -39 A100-0105-008 RIL b 2 2 2 2 2 2 2 M5X8
5 -40 1192-3944-000 T57 v b RFT A A O A A IR A R
5 -41 A252-0706-012 F>22%Y 2 2 2 2 2 2 2 MeX12
5 -42 | A300-0106-001 Fw b 2 2 2 2 2 2 2 M
5 -43 1192-3615-000 Iv LA A O T O A B A O
5 -44 N300-0106-E01 ENJFwh T 1 1 11 11 M3 B8




6.AN—201+-201F-2000TC

AN—202-202F-202TC (B KEE 2016 F~)




6. AN—201--201F-200TC
AN—202+-202F-<202TC (EXKEB 20165F~)
RUBS F % & S # % B 201 | 201F zﬁi{@zﬁ 202F [2027C & 8 "

6-1 1192-3611-001-02 L —LL 1 1 1 1 1 1

6-2 1192-3612-001-01 | L —LR 1 1 1 1 1 1

6-3 1192-3613-000-02 | JL —LAT 1 1 1 1 1 1

6-4 A252-0706-012 FSRORY 6 6 6 6 6 | 6 MEXT2
6 -6 1192-3614-000-01 |/ INRIH/N\— 1 1 1 1 1 1

6-6 A252-0706-012 FSRORY 4 4 4 4 4 4 MEXT2
6-T 1192-3515-000 HYRA T2 1 1 1 1 1 1

6-8 A252-0705-012 FSRORY 2 2 2 2 2 2 MBX12
6-9  1192-3918-000 HY 21T 1 1 1 1 1 1

6-10 A252-0706-012 FSRORY 2 2 2 2 2| 2 \MBX12
6-11 1192-3519-000 JwIB 1 1 1 1 1 1

6-12  A252-0706-012 FSRORY 2 2 2 2 2| 2 \MBX12
6 -13 1192-3950-000 FUIRY 1 1 1 1 1 1 MBX12
6 -14 1192-3960-000 A TILAR 1 1 1 1 1 1

6-15 1194-3661-001-1 WZ=—7/HR—JLR200 1 1 1 1 1 120« 21y
6-16 1192-3942-110 RL 1 1 1 1 1 122231y
6 -17 |1192-3942-120 NILTVT v b 1 1 1 1 1 1

6-18 1192-3621-110 NILTITUTw k 1 1 1 1 1 1

6 -19  1192-3624-000 AEREt 1 1 1 1 1 1

6 -20 1192-3625-000 M= I 1 1 1 1 1 1

6 -21 1192-3536-000 HFa=—)Lltey 1 1 1 1 1 1

6 -22  0830-0200-400 oz 1 1 1 1 1 1

6 -23  A140-0600-408 F3IRIL 1 1 1 1 1 1 MAX8
6 -24 |1192-3621-000-01 | 7+ /L% 1 1 1 1 1 1

6 -25 1192-3528-000 oy 1 1 1 1 1 1

6 -26 1192-35622-000 FrvS 1 1 1 1 1 1

6 -27 | 1192-3943-000 T+ 1 1 1 1 1 1

6-28 1192-3626-001-1 /N1 TA 1 1 1 1 1 1

6 -29 1192-3627-000 LM 1 1 1 1 1 1

6-30 1199-0021-000 TILRA 1 1 1 1 1 1

6 -31 1192-3528-000 oy 1 1 1 1 1 1

6 -32 1192-35622-000 FrvS 1 1 1 1 1 1

6 -33 1192-3526-000 HIZAANAT 2 | 22 2 2 2

6 -34 |1192-3632-000-1 \JLtzY 2 22 2 2 2

6 -35 |1192-3523-000 NIV 1 1 1 1 1 1




6.AN—201+-201F-2000TC

AN—202-202F-202TC (B KEE 2016 F~)




6. AN—201 0O1F-200TC
AN—202 O02F -202TC (EXKESB 20165F~)
RUBS F = B # % B 201 | 201F 2(@%1@2% 202F 202TC = i "
6 -36 | 1192-3621-000 YT w T 11
6 -37 |1192-3523-200 R—=2IJ3rrk 1 1 1 1 1 1
6 -38 | 1192-3933-000 NT21IN1T 8B T 11
6 -39 |A100-0105-008 R 2 2 2 2 2 2 M5X8
6 -40 | 1192-3944-000 TS5y b5 1T 11
6 -41 |A252-0706-012 FS23ORY 2 2 2 2 2 2 |M6X12
6 -42 A300-0106-001 Fwhk 2 2 2 2 2 2 M
6 -43 |1192-3615-000 Jv7 1 1 1 1 1 1
6 -44 N300-0106-E01 ENFwhk 11 1111 e 930 2e




[.AN—601K-AN—602K (BKEEA 2016 F~)




1. AN—601K-AN—602K

GEXKEBA 2016F~)

SHES ® 8 B S £ BB W osea i i

T-1 |1192-3611-001-02 | 7L —LL 1 1

T-2  1192-3612-001-01 | T —LAR 1 1

T-3  1192-3613-000-02 | L —LT 1 1

T-4 A252-0706-012 FS23%Y 6 6 MBX12
T-5  1192-3614-000-01 |/ IRUH/N— 1 1

T-6 | A252-0706-012 FS23%Y 4 4 MEX12
T-T |1192-3515-000 A2 IFTT2 1 1

T-8 | A252-0705-012 FS23%Y 2 2 M5X12
7-9 |1192-3918-000 AV 21T 1 1

T-10 A252-0706-012 FS23%Y 2 2 MBX12
T-11 |1192-3519-000 JwJB 1 1

T-12 | A252-0706-012 FS23%Y 2 2 MBX12
7-13 |1192-3950-000 FUIRY 1 1 MEX12
T-14 |1192-3960-000 S TILR 1 1

7-15 |1189-3561-000 NZ—/KR=IJLFR600O 1 1120 2149
T-16 |1192-3942-110 RL 1 1 (22237
T-1T 1192-3942-120 NILTVT 1 1

7-18 |1192-3621-110 NILTIHUSw R 1 1

7-19 |1192-3624-000 VB ELIr s 1 1

T-20 |1192-3625-000 R—=2 /) 1 1

T -21 |1192-3536-000 A=)t 1 1

T -22 0830-0200-400 oz 1 1

T -23 | A140-0600-408 FaoRIL b 1 1 M4X8
T-24 1192-3621-000-01 | T+ LY 1 1

T -25 |1192-3528-000 oy 1 1

T-26 |1192-35622-000 FrvS 1 1

T-2T 1192-3943-000 IRT 1 1

T-28 1192-3626-001-1 /N1 T A 1 1

T-29 1192-3627-000 TIxHY 1 1

7-30 |1199-0021-000 TILRA 1 1

T-31 |1192-3528-000 oy 1 1

T-32 |1192-3522-000 FrvS 1 1

T-33 1192-3525-000 DI RANTT 2 2

T-34 1192-3632-000-1 | TLtzY 2 2

7-35 1192-3623-000 NILT 1 1




[.AN—601K-AN—602K (BKEEA 2016 F~)




7. AN—601K-AN—602K (EKEEBA 2016F~)

SHES ® 8 B S £ BB W osea w8 i
7-36 |1192-3621-000 VT b 1 1
T -37 |1192-3523-200 R—2337Y k 1 1
T-38 1192-3933-000 NTRTINT1TB 1 1
7-39 A100-01056-008 AL~ 2 2 MBX8
T-40 |1192-3944-000 T2y R 277 1 1
T-41 A252-0706-012 k) 2 2 MEX12
T -42 | A300-0106-001 T+ bk 2 2 M6
T -43 |1192-3615-000 v 1 1
T -44 N300-0106-E01 ENTFwhk 1 1 M6 930 ZE




[.AN—601K-AN—602K (BKEEB 2016 F~)




8. AN—601K-AN—602K

GEXKEBB 2016F~)

SHES % 8 B = B8 80 SSEH 0 S B’ 1
8-1 1192-3611-001-02 | JL —/AL 1 1

8-2 1192-3612-001-01 | JL —LR 1 1

8-3 1192-3613-000-02 L —LT 1 1

8 -4 A252-0706-012 FS23%Y 6 6 MEX12
8-6 1192-3614-000-01 SV IR H/\— 1 1

8 -6 A252-0706-012 FS2 3% 4 4 MBX12
8-T 1192-3515-000 AV T2 1 1

8 -8 A252-0705-012 FS23%Y 2 2 MBX12
8-9 1192-3918-000 HY 21T 1 1

8 -10 A252-0706-012 FS23%Y 2 2 MEX12
8-11 1192-3519-000 Jw7JB 1 1

8 -12 A252-0706-012 FS23%Y 2 2 MBX12
8 -13 1192-3950-000 FUIRY 1 1 MEX12
8 -14 1192-3960-000 A TILAR 1 1

8 -15 1189-3571-000 NZ—HR—ILR6ON 1 120 211"
8-16 1192-3942-110 RL > 1 122 -23(Y
8 -17 1192-3942-120 NILTVT w 1 1

8-18 1192-3621-110 NIVTIDVT Y~ 1 1

8 -19 1192-3624-000 VI EYsLo 1 1

8 -20 | 0830-0200-400 oy 1 1

8 -21 A140-0600-408 FaoRIL b 1 1 M4AX8
8 -22 1192-3521-000-01 | 7+ L% 1 1

8 -23 1192-3528-000 oy 1 1

8 -24 1192-3522-000 TrvS 1 1

8 -25 1192-3943-000 AT 1 1

8-26 1192-3626-001-1 /N1 A 1 1

8 -27 1192-3627-000 TIxHY 1 1

8 -28 1199-0021-000 TILARA 1 1

8 -29 1192-3528-000 oy 1 1

8-30 1192-3522-000 TrvS 1 1

8 -31 1192-3526-000 HIRAINTT 2 2

8-32 1192-3532-000-1 | JLtzY 2 2

8 -33 1192-3523-000 NILT 1 1

8 -34 1192-3621-000 VT w 1 1

8 -35 1192-3523-200 R—2IJ31Uk 1 1




[.AN—601K-AN—602K (BKEEB 2016 F~)




8. AN—601K-AN—602K

GEXKEBB 2016F~)

SHES ¥ 8 B S $ B 2 W SSEH 0 S B8 =
8 -36 |1192-3933-000 INT21/)NTTB 1 1
8 -37 |A100-0105-008 ALk 2 2 M5X 8
8 -38 |1192-3944-000 TS5 v 25T 1 1
8 -39 |A252-0706-012 FSRORY 2 2 M6 X 12
8 -40 |A300-0106-001 Fwk 2 2 M6
8 -41 1192-3615-000 IJw70 1 1
8 -42 |N300-0106-E01 ENT YR 1 1 M6 30 26




(5D & mr BERR

T998-0102 lLZREETMRE 4 TH 1 Fiho 13
TELO234 (28) 8239
FAX0234 (28) 8256

2020% 4A




